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M FoHX| JHY
o =S FMAtEe (CH: ®2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
0HZEE 28,830,00024%3.545% 1,023
0BRSS 28,830,0002412.81% 3,694
01EEE 28,830,000 %1.75% 505
0&HHEE 28,830,000 1% 289
SRS 2,400,000 2,400
201 L2 60,578 50,680 9,898
01 AF222IHI 51,790 45,880 5,910
OLBt2H] 37,390
IR =242
374,00024+10Z X| 3,740
022 E2LL2
374,000 +752 X 28,050
02ZRTA UDEX AIRRE U S)|
~2 = 3,600
OAIRRE S 200,0002 %12 2,400
0S)I%a%2 S 15,0002 *80Z X| 1,200
02BSTA 2 TARY S
200,000+ 10& 2,000
OSZH(ALHFARFX)
8,000 *621x804] 3,840
OAHE D AREX AR
880,000 x 12 10,560
02 222 8,788 4,800 3,988
OA D} UL
1,75020%2282|E{* 122 4,788
IADRMA LR FA OHYS s QTR
El 4,000,000 4,000
202 O4H 15,400 15,400
01 2LH0IH 15,400 15,400 0
OAHLSHH AR 43
200,0002+621x 122 14,400
O=22RLH JREZA
100,000+ 121+ 10 1,000
203 2= 3,000 3,000 0
03 AIZHZ=RIQD A 3,000 3,000 0
OURZ2AIE A 3,000,000 3,000
401 AlEH| 22 OHH 300,000 300,000 0
01 Al&H] 300,000 300,000
onl=sXl 242 300,000,000 300,000
NPT 18,337,199 17,851,538 485,661
= 150,000
= 18,187,199
XIS AFI = 39,280 38,800 480
201 L2 39,280 38,800 480
01 AF222IHI 39,280 38,800 480
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I FOHK| JH
S XI<LIMEAS (Ctol: ®M2l)
- _ _ X L=
SA B E(BH) - HRAY - BES Ol &k L o HIDS2
OSSHAE 22 L 0RI22A S|
8,00021%2001x334! 5,280
OSSHAL 2% ASEE 12
4,000,000%! 4,000
OESHEHZR DS
300, 00021%5001%2 30,000
L 2FU=SA(ZAILY) 6,656,600 6,904,218 A247,618
401 AI2HIZ 2 0H 6.656,600 6,904,218 247 618
01 AlZH] 6,640,000 6,887,000 247,000
OXIA(ZAHR)DIS 0+ SIETA}
250,000,000 250,000
OXIZ0IS SIIHED FUZ HTFDA
250,000,000 250,000
OADIOIS OH OIARTHERBAL
150,000, 000! 150,000
QHOIS(ES) USHBE TLTA
300,000,000 300,000
ODFAOIS OF2 OFAR TIMRI|BAF
150,000, 000! 150,000
OADIOIS ADE THIIEBAL
130,000,000 130,000
OXHDIE SRSERTA}
300,000,000 300,000
ORENIS CI2XBE THBAl
200,000,000 200,000
ZUO0IS FYE2 SERTA
200,000,000 200,000
OANBOIZ HZE2 HEBA
300,000,000 300,000
OmE 012 M3 JHTA
120,000,000 120,000
OF A0S 2T THBA
200,000,000 200,000
OSH0IS o2 STRBAL
350,000,000 350,000
OST(MM)0IS CIRE 2T ZATA
370,000, 000! 370,000
ONIXIOIS CIRRZE THBAl
220,000,000 220,000
OSHOIS 312 =¥ SHZE THBA
263,000,000 263,000
OHUOIS HZBE2 HEBA
200,000,000 200,000
ODIS0HS oH2 SIEETA}
254,000,000 254,000
ORADIS o SIHT2 WA TA
60,000,000 60,000
OHI20IS CIRXZE THBAl
250,000,000 250,000
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HEE

= « NXH . S . . IE
SN - B G9(S) - MRAE - BYS Ofl ko il o {[ImE=ST
OAAIDIS oF2 AEHZFZ Al
103,000,0002! 103,000
OAROIS o2 SEE DAL
450,000,0002 450,000
OZOIIIS 0F2 SHE A DA
800,000,0002 800,000
OLFDIS €2 SHEXTA}
120,000,0002! 120,000
OADI0IS HIE ZHZAH
250,000,0002 250,000
OJFAH(RON OIS IR EAALY
130,000,0002! 130,000
OZE-HAl OIAR M| DA}
150,000,0002! 150,000
OR0IS MSUYl oH2 HH|ZAl
120,000,0002! 120,000
03 Al 20| 16,600 17,218 A618
OAIZ= 0l 6,640,000,00024%0. 25% 16,600
PR RIS 2AALS 1,083,888 983,847 100,041
401 A2H 220 1,083,888 983,847 100,041
01 Al&H] 1,080,000 978,000 102,000
OXIZ0IS BTS2 JISHY AXI2AF
30,000,0002! 30,000
OIEDIS AXI8 52 ZIH2A
30,000,000 30,000
OSZ0IS 22 FHIZAH
50,000,000 50,000
OAZDIZ FYUZ U =2 HH|IZA
80,000,0002! 80,000
OXHAIOIE 02 Jt=yY AXIZAH
30,000,000 30,000
Ot SEIME SHIZAL
80,000,000 80,000
OUZ0IS HIF HHIZAH
100,000,0002! 100,000
022012 32 5 42 HHIZAF
30,000,000 30,000
O22012 012 HiA2 HH|I2A}
30,000,000 30,000
OUE SI8 52 ZINTA
50,000,0002! 50,000
OIS 22 52 ZETA
50,000,000 50,000
OZE0IS 02 HEXZAF
50,000,000 50,000
OHXIOIS o2 MHIZA}
50,000,0002! 50,000
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O 452 52 ZAZA
30,000,000 30,000
OXIEDS ot OtAZEE S A
60,000, 000& 60,000
OZMOIS &3 = ME FHISAL
50,000, 000& 50,000
021202 o =g AXISA
30,000,000 30,000
OXtEr 20I1= == ZHISA
50,000, 000& 50,000
OZMOIS Jtal= ME EHISAL
50,000, 000& 50,000
O230t2 8= 52 HEEZAM
50,000,000 50,000
OUWHEDIE HEXZ s2 SHEHEA
50,000, 000& 50,000
Og3H JHHIDIZ =2 EHISAL
50,000, 000& 50,000
03 Al£ S04 3,888 5,847 A1,959
OAIE 20| 1,080,000, 000&*0. 36% 3,888
AeF=0l=RALY 749,694 734,599 15,095
401 AlEHIZL 08I 749,694 734,599 15,095
01 AlEHI 745,000 730,000 15,000
OXI&0ls s2 Z&H3A
35,000, 000& 35,000
OZA0tS IR SESA
40,000, 000& 40,000
OoL30E s2 ZEEAM
45,000,000 45,000
Oasle s2 ZEEAM
20,000, 000& 20,000
O&8Nlts =82 AFZA}
25,000, 000& 25,000
Oz=0E o2 FHIZAt
30,000,000 30,000
OtIELE s2 ZEBA
30,000, 000& 30,000
OIS DYXYZ HEBA}
30,000, 000& 30,000
OzEiE o2 FHIZAt
30,000,000 30,000
OR20I2 OtAZ AMRI|SA
60,000, 000& 60,000
OMR0t2 oHd JHIZA
20,000, 000& 20,000
O&E==0t2 =diZ SZEZA
30,000,000 30,000
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HE: FOEX| e
CHPl: XN Al (Cior ai)
SYTIE E T 51 - .. PSIE]
SA - FB . EI(EH) - HRAY - BES ol &k e lmE=T
OAIZOlE o2 ZHISA
25,000,000 25,000
Qalllite AUZ SHEEIAL
15,000,000& 15,000
OXE FEHZ =2 ZHIA
25,000,000& 25,000
OLEDIE TYZ 0tAE HMRI|SAL
60,000,000& 60,000
O&Ells s2 Z&H3A
30,000,000& 30,000
OA=0tE 293 Yz ZEHIA
30,000, 000& 30,000
OE=x0ls s2 Z&H3A
20,000,000 20,000
Ottalls s2 ZEHIA
15,000, 000& 15,000
Oli=0ts =2 ZHISA
25,000,000& 25,000
Oza0ls s2 ZEH3A
15,000,000& 15,000
O2i0ls s2 Z&H3A
10,000, 000& 10,000
Oa=0ts ot SEESA
55,000,000& 55,000
OR20ls s2 Z&H3A
10,000,000& 10,000
ORDI0tE Jtede AXISA
15,000,000& 15,000
03 Al 2201 4,694 4,599 95
OAlZ =T 745,000,0002+0. 63% 4,6%4
LEF0I=RIAY 1,131,058 1,051,773 79,285
401 AlEHIZ 018 1,131,058 1,051,773 79,285
01 Al&Hl 1,127,000 1,048,000 79,000
OLELE 52 ZEHBA
35,000,000 35,000
OS&ELls U=3HEE ZE3IA
50,000, 000& 50,000
OU=0ts ot THEESAH
72,000,000& 72,000
OS0ite =2 SZEIA
70,000,000 70,000
Osg0ts ok =2 ZHISA
70,000,000& 70,000
OL =0t ot AlH FHIZA
60,000, 000& 60,000
OUZElls &%= s2 SZEIA
70,000,000 70,000
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I FOEK| JHe
EH2lr XIS IHEAIS (Ctol: ®M2l)
i . ZH . 5 . . I &
SA - FB . EI(EH) - HRAY - BES ol &k e lmE=T
O==0l= or2 =bi>2 JOl=AF
60,000,000 60,000
OUE0IS DISXYR SHEZTAl
60,000,000 60,000
OAY0IS o+ =R2A}
65,000,000 65,000
OQFDIS FZ A2 HEZTAL
70,000,000 70,000
022012 212 WERZTAL
70,000,000 70,000
ORE0E B HEBAF
80,000,000 80,000
OZEDIS USHYE TAAY
35,000,000 35,000
ONIENIS TSYT Y2 HY|BA}
70,000,000 70,000
OUSOIS 0F2 THEEBAF
60,000,000 60,000
OQEDIS o2 THERZTAL
70,000,000 70,000
OUEOIS 0152 =2 MEZTA
60,000,000 60,000
03 Al&=2H| 4,058 3,773 285
OAIZ= 0l 1,127,000,00024%0. 36% 4,058
MEZF0I=2IALS 977,118 689,316 087,802
401 AIEH 2208 977,118 689,316 287,802
01 Al&H 971,000 685,000 286,000
OUM(NYR) =2 SHEETA
36,000,000 36,000
O3=0I2 222 FHIZA
42,000,000 42,000
O-20te 92! otAR IXZA}
72,000,000 72,000
OREOIS S22 SHTETAF
29,000,000 29,000
OKI|0t2 XYUZ Hi&Z HHIZAH
10,000, 0002 10,000
OSA0IS 52 ZH2A
35,000,000 35,000
ODENIS 3B 242 HY|BA
18,000,0002! 18,000
OF20IS 2 =2 HEZA
25,000,000 25,000
OU= 22 22 HHIZA
30,000,000 30,000
OYLA ELURZ 22 HHIZAF
30,000,000 30,000
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SA B l(3) - HIRAY - BAS Ofl st G HI DS
OME 23 M& Zdl=Ab
60,000,000 60,000
OUZOIS ZYUZ 22 HHIZA
30,000,000 30,000
OUS~E=UH2t 52 HEEBAF
60,000,000 60,000
OBIEDIS o2 SEXTAL
34,000,000 34,000
OE& SZHE HHIZA
45,000,000 45,000
OTII0IS 9r2 FHIZAH
70,000,000 70,000
OOI2SHIAE S MHIZAH
50,000,000 50,000
OUE 20t2 YT WEZZA
36,000,000 36,000
OADIOIE S92 =2 HHIZAH
35,000,000 35,000
OBtE~2=2t MAUCTR 22 HH|ZA
38,000,000 38,000
OKAHLOIS OF2 OIAZ M| T A}
90,000,000 90,000
OSA0IS A2 HEH HH|IZA}
18,000,000 18,000
OBIY =TS S2H 0 FHIZAH
30,000,000 30,000
OU=0IS ZYZ HH22 HH|IZAH
18,000,000 18,000
O 2012 HI+2 HHIZAH
30,000,000 30,000
03 Al =2H| 6,118 4,316 1,802
OAlg=0dl 971,000,0002%0.63% 6,118
Y ES PN 800,009 826,173 226, 164
401 AIEH 2208 800,009 826,173 A26, 164
01 AlZH] 795,000 821,000 226,000
OKEDIS $IE 52 N
70,000,000 70,000
OS2 BE o1 HH2IHA 2AF
40,000,000 40,000
OBHAt BAE XQYT2 STIRTA
50,000,000 50,000
og=olE Af &4 ZAH
30,000,000 30,000
OF4F 012 @422 HHIZAF
25,000,000 25,000
ORE0I2 XAUTR HE2 DA}
40,000,000 40,000
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HEE

SN - BE . S2(3) - HRAY - BES O e e HlmE2
OZE 2= iz NF=Al
20,000,0002 20,000
OAI0F HITHE RIYU2 AL SL2A}
50,000,000 50,000
OlNE =2 U &2 HZAF
35,000,000 35,000
ONNE o2 TR BAL 40,000,0002 40,000
OTAF MEf 52 RHIZ At
40,000,000 40,000
OBY S8 S22 HES ZA
30,000,0002 30,000
ONBOIE S22 M2 2A
40,000,000 40,000
OHENIS =2 IXHTBA
35,000,000 35,000
OXIGI0rS or E& JHBAF
90,000,0002 90,000
OIS FYE2 OIAR TEDA}
70,000,000 70,000
OBE 228 =2 NYIZA
50,000,000 50,000
OBIA0IS M2 HIAINAE A
40,000,000 40,000
03 Al&=2CHH] 5,009 5,173 A164
OAle =il 795,000,0002*0. 63% 5,009
ARIZE0IZ2I AL 1,023,672 1,077,647 53,975
401 AU E0HH] 1,023,672 1,077,647 53,975
01 Al&H] 1,020,000 1,074,000 54,000
OMZDIE THAHABXI? HHIZAH
50,000,000 50,000
OZHOIS 42 SWTA
50,000,000 50,000
OMHEI0IS OF HH42 HHIZAL
30,000,000 30,000
OBZE MEf o2 SXTA
56,000,000 56,000
OAEDIS =2 HHIZA
30,000,0002 30,000
OFo0IS MIE HHIZA
30,000,000 30,000
OMEDIS 42 =HITA}
80,000,0002 80,000
OWMZOIS o OlAR TEBA}
120,000,000&! 120,000
OAZEOIZ A BAZAL
32,000,000 32,000
OMEOIS S2 HEBA
55,000,000 55,000
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XE: FORK| JHgt
EH2lr XIS IHEAIS (Ctol: ®M2l)
i . ZH . 5 . . I &
SA - FB . EI(EH) - HRAY - BES ol &k e lmE=T
O=H0I2 o2 Zol= At
50,000,000 50,000
OMNZDIZ 012 OlAR EETA}
42,000,000 42,000
O=MOIE 7 FHIZA
75,000,000 75,000
OMADIZ 52 TRBA
70,000,000 70,000
OMEDIS 52 TRBA
50,000,000 50,000
OHDOtE =2 HEZA
30,000,000 30,000
OAZNIS =2 SERDA
20,000,000 20,000
OHENIS 52 TRBA
30,000,000 30,000
ONIOIS(AOIHR) oH X2 SHEZA}
30,000,000 30,000
OIS =2 SERDA
30,000,000 30,000
O==0I235/2 22X HHIZA
25,000,000 25,000
OMZOE oH2 FHIZA}
35,000,000 35,000
03 Al 3,672 3,647 o5
OAlES I 1,020,000, 00020.36% 3,672
NEEREENE 1,154, 140 1,137,079 17,061
401 A28 L2000 1,154, 140 1,137,079 17,061
01 AlZH] 1,150,000 1,133,000 17,000
OZHIIZS2 L Hi42 HHIZA
100,000, 000! 100,000
OUtH SZ0IS 01252 U 42 FH/Z
At 60,000,000 60,000
OFAIZ 52 TRBA
40,000,000 40,000
0OUAUNIS 52 TRBA
85,000,000 85,000
ONZEOIS o XIYE2 2HZA}
75,000,000 75,000
OLTHOIS 012 OIAR EETA}
60,000,000 60,000
OAIZ 52 TRBA
60,000,000 60,000
OBIHOIS OH2 OlAR LEZA
60,000,000 60,000
OL2I0IS 012 OtAR EETA}
60,000,000 60,000
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ALY
FOHR M

KIS AL

HEE

=] « NXH . Cl2|( T 0 . 1B
OXIE EXI0le =23&2 HESA
60,000,000 60,000
Ostelils et OtAZE ZEHIAL
100,000, 000& 100,000
OAt2|OtES oHd OtAZE ZEIAL
60,000, 000& 60,000
Osti0ls et OtAZE ZEHIAL
50,000,000 50,000
O EOlE e OtAZE ZEHIA
60,000, 000& 60,000
Osotits ord OtAZE ZEIAL
50,000, 000& 50,000
O=si0ls et OtAZ ZEHIA
60,000,000 60,000
O&&0ls et OtAZE ZEHIBA
50,000, 000& 50,000
O2H0ts MUEZ SHEHEZA
60,000, 000& 60,000
03 Al£ S04 4,140 4,079 61
OAIE 20| 1,150,000, 000&*0. 36% 4,140
ChE=0I=RAIS 1,459,235 1,028,690 430,545
401 AlEHIZL 08I 1,459,235 1,028,690 430,545
01 AlEHI 1,454,000 1,025,000 429,000
OY=20t2 oY HERTA
86,000, 000& 86,000
O=&lts BHZ FHISA
55,000, 000& 55,000
OAUioIE &2 8H 223 At
34,000,000 34,000
OZIXH&E0H OIS Xz SHIEEBAL
44,000,000 44,000
OAFI0IS(ZEl) =2 ZHIZA
38,000, 000& 38,000
OFAOIE o2 OtAZHM RIS A
63,000,000 63,000
OZ2clitE BHZ ZHBA
48,000, 000& 48,000
O&qits o2 HHISA
41,000, 000& 41,000
OFOI2 FX2 FHIZA
36,000,000 36,000
OSA0IS 012 HEHZA
50,000, 000& 50,000
O340t ot =2 ZHIZA
38,000, 000& 38,000
OAE0l= =2 HUISAt
68,000,000 68,000
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M F|obX| JHer
ChRl: XISHLAIY (ciof: xi1)
i . ZH . 5 . . I &
SA - FB . EI(EH) - HRAY - BES ol &k e lmE=T
OZEDIS(ES) o SRADAl
81,000,000 81,000
OOHOIS 12 Y42 HHIZA
61,000,000 61,000
OWBIEOIZ =2 A B2ZTA
21,000,000 21,000
OYAMDIS(AIOHR) HI&2 FHHIZAF
84,000,000 84,000
O20HIE X2Z o2 &5 U 42 H
HIZ AL 82,000,000 82,000
OIS BIG-EiA 2t 52 HH|ZAF
87,000,000 87,000
OAAIS 012 OtARGIM QT2 A}
74,000,000 74,000
OTOI0IS DIS32 =8 OHREIA X2
At 22,000,000 22,000
OMHOIE NYTZ SEZA
35,000,000 35,000
OALDIS(AIBIE) HR2 TRTA}
53,000,000 53,000
OOHOIS HI4Z2 FHIZAH
36,000,000 36,000
OTRAIOIS HHE2 HHIZAH
30,000,000 30,000
OZ0HIIS HEZ FHI2AH
35,000,000 35,000
OFOIS =2 THTA
70,000,000 70,000
OTRAIOIS 012 OIAZGIM QT DA}
42,000,000 42,000
O2=20I2 012 THTZA
40,000,000 40,000
03 Al 20 5,235 3,690 1,545
SNEETE 1,454,000, 00024%0. 36% 5,235
AIOF=0IZ2I AL 1,289,626 1,696,084 NA06, 458
401 A& U2 =010 1,289,626 1,696,084 NA06, 458
01 Al&H 1,285,000 1,690,000 405,000
OBIE(EXE) M HHIZAF
30,000,000 30,000
OBHE (LTHR) F2 b2 IHAZAF
50,000,000 50,000
OZCHOIS O+ HHIZAH
90,000,000 90,000
OOFNOIS o+2! THE AR A
150,000, 0002 150,000
ORBI0IS 012 BTE U QPARCIM S|
SAf 160,000,0002! 160,000
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Faf=i,

M FoHX| JHY
EH2lr XIS IHEAIS (Ctol: ®M2l)
S . KT . s - . I e
SA - FB . EI(EH) - HRAY - BES ol &k e lmE=T
OXEIDIS JYE2 HHIZAN
40,000,0002! 40,000
O200tS o2 FU|ZAL
80,000,000 80,000
OBHIOIS or THEEZTAL
120,000,000 120,000
OAOI(EHH) OIS 9+ OLABSHMRT| AL
90,000,0002! 90,000
2 D0IS 02 OIARSMRI| ZA}
95,000,000 95,000
OZF(CIEZ)0S 02 L MTEHIZAF
80,000,000 80,000
OSH(MEHz=)0IS oF SEETA}
65,000,0002! 65,000
O/IOIDIS OF2 HH4IHE L THERHZ AL
100,000,000 100,000
OYSOIS or BH4IH&ZAL
45,000,0002! 45,000
O/HEDIS 012 BT FY| L 52 ZIRDA
90,000,0002! 90,000
03 Al& i 4,626 6,084 AT1,458
OAlE=THl 1,285,000,0002*0. 36% 4,626
MH[ZFZE0I=2AAIY 631,957 1,089,910 A457,953
401 Al2HIZL2HY] 631,957 1,089,910 A457,953
01 Al&HI 628,000 1,086,000 A458,000
OADIDI2 o Hi22 =W2A
50,000,0002! 50,000
OJMHIDIS 20 L X2 52 ZETA
50,000,0002! 50,000
OHEOIS M%EE ZETA
30,000,000 30,000
OR/ATESOIS OIAE TMR)| IRTA}
25,000,0002! 25,000
OMSOIS 52 2 12 JHIZA
25,000,0002! 25,000
ORIE0IS OIAR GMN)| EETAb
50,000,0002! 50,000
OJIHOIS DEB=2 L Hi42 FHHIZAF
45,000,0002! 45,000
OAMDHDIS OIAR GIM)| EETAb
25,000,0002! 25,000
OZHDIS HI42 SHIZAF
30,000,000 30,000
OATHOIS XY SETAL
18,000,000 18,000
OUE0IS OtAR TMNR)| EATAL
45,000,0002 45,000
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ALY
FOHR M

KIS AL

HEE

SA - B - G(3) - MRAY - BYS Ofl Ak ot il o i[ImE=FT;
OANTIOIS RIZLEE SZAZAL
65,000,000 65,000
OLET SIS S S2ERTAL
95,000,000 95,000
O020tS S2EE L 42 AXITAF
25,000,000 25,000
OALSOIS s2 2 A HHIZA
30,000,000 30,000
OIS NEn Y2 HHIZA
20,000,000 20,000
03 A& S0 3,957 3,910 47
OAlg sl 628,000,0002*0. 63% 3,957
NEETEEEINS 945,922 543,402 402,520
401 AI2HIZ 200 945,922 543,402 402,520
01 Al&H 940,000 540,000 400,000
O01mOFS JIEHY HXIBAF
35,000,000 35,000
OAHIDIS =2 HHIZA}
50,000,000 50,000
OZ0IS HIF RHIZA}
50,000,000 50,000
OTHOIS 212 =SIWZAL
50,000,000 50,000
OYES0IS 212 MHIZA
40,000,000 40,000
OAEDIS S22 RHIZA}
50,000,000 50,000
O£B0IS 012 ERTAL
30,000,000 30,000
OFHDIS =2 HH|ITA}
40,000,000 40,000
OF20t2 o+ EEDTA
40,000,000 40,000
O=X0IS 212 MHIZAL
65,000,000 65,000
ONEOIS =2 HH|ZA}
50,000,000 50,000
O+HOIS IIEHY AXIZAF
10,000,000 10,000
O4H0IS 212 MH|IZAL
20,000,000 20,000
OHS0IS =2 HH|TA}
30,000,000 30,000
O2E0tS o2 =IHTA}
50,000,000 50,000
O01mOIS =2 LERTA}
20,000,000 20,000
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2AM:

.

Faf=i,

FXl R

SR AISIHEALS (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
O0/m0rS oFd EFZA
45,000,000 45,000
OJMHOIS o SETA
100,000, 0002 100,000
08802 X2 ZHIA
80,000,000 80,000
OAB0IE 52 SFTA
85,000,000 85,000
03 AlE= Y| 5,922 3,402 2,520
OAl&€ =0t 940,000, 00024 %0.63% 5,922
A2 XIB0F 2 AIZANY 150,000 0 150,000
ES 150,000
401 AlZHI L2 H 150,000 0 150,000
ES 150,000
01 Al&H] 150,000 0 150,000
OXIY LIS 42 FHIZA
50,000,000 50,000
ES 50,000
O4DINlg NEY2 SEH BA
100,000, 0002 100,000
ES 100,000
A2 ABAE HESAIY 35,000 0 35,000
401 AlEHI LS THH 35,000 35,000
01 Al&H] 35,000 0 35,000
OMZm SABT2 IHAILS HXIZA
35,000,000 35,000
272 ZTAE FNES 210,000 0 210,000
401 Al=HI L2 OH 210,000 210,000
01 Al&H| 210,000 210,000
onlger & 52 224
80,000,000 80,000
OHER ¢ H&E S=E%
80,000,000 80,000
OUSHZE L 42 RX24
50,000,000 50,000
CR2ALAIY 15,340,432 19,001,269 3,660,837
s 20,000
=S 55,000
2 15,265,432
CRALAY 540,326 129,014 411,312
s 20,000
=S 55,000
2 465,326
CEREXX 110,326 79,014 31,312
101 Q124 9,698 9,236 462
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SA AL
HEH: CERAAAY
CHe: SEAMAY (che]: X Sl)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
04 JIFRI22ISES 9,698 9,236 462
OTZWNESXAIR Q124
80,810944001%3L 9,698
201 LB 33,978 29,728 4,250
01 AlR2:2|H] 22,245 18,045 4,200
OZ224 FHI7Y
60,0002%1501x2F 1,800
OLZotME 2iHE 2
10,00024%100H 1,000
OTZoHNE 254 7Y
10,00024*200H 2,000
Oot:EIA o 24,0004 *50% 1,200
OWlFDl =& 80,000 *150H*23] 2,400
OulF2| 27 4,000 %500H 2,000
OO0IF |1 =e orNZ))| 2
50,0002 *15% 750
OSEH(E2UREX)
8,000 *401%80A! 2,560
O2H|(E222H)
8,0002%1501%20A! 2,400
OLzE42 I1=7¢ 6,135
0xgls 50,0002/ % 15Q1x2%¢ 1,500
0gtste 60,0002 * 150112 900
00+HM 3} 60,000R%150142= 1,800
UelgSie 8,000 *15Q1%2%} 240
022 20,0002 % 15Q1x2 %} 600
0HA B STH 90,000R4+801% 1= 720
elpaissiel 25,0002 %1501 1% 375
02 222 11,733 11,683 50
O&GHHE EHE 20
1,6502%362| E{*60CH*23] 7,128
OWFD| 27 8,000 *x20E*15CH 2,400
ONIFI| RE7Y
1,7502%1 . 22| E{*15CH*703] 2,205
202 O4H| 10,500 10,500
NENE 10,500 10,500 0
OE2PH 200,000 401122 9,600
OT 2842 HlnAst o]
30,0002 *1501%23] 900
206 XHEH| 51,100 17,300 33,800
01 XH2H] 51,100 17,300 33,800
OYZAL Ot 2 3002!%5,0000H 1,500
OYLAL 7 10,00024x700m 7,000
O&THHR H3ids P
11,00024%3,000Z CH 33,000
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2AM:
X{XH -
o /e

cH):

HEE

DA B ERA(SH) - HRAY - BES Ol Gl o {TmE=T}
O=30lC ¢ 12,0002 *800 XL CH 9,600
405 KHoHE S| 5,050 12,250 A7.,200
01 AU SEF S| 5,050 12,250 A7.,200
O0=D| 2 650, 0002 *4CH 2,600
OJIHE(2XE) ¢ 800, 000 «2CH 1,600
OAxIS =20t 7 850,000 *1CH 850
AE(D2) ADIE =SAE ZAAY 300,000 0 300,000
401 AI2HIZ 200 300,000 0 300,000
01 Al&] 300,000 300,000
OAE (HE) ANIESS & H T LAY
300,000,0002! 300,000
ENEEE N ENEEEIE) 110,000 50,000 60,000
= 55,000
2 55,000
401 AlEHI L2 0HH| 110,000 50,000 60,000
= 55,000
2 55,000
01 Al&H] 110,000 50,000 60,000
OORI0I2E R &AL
110,000,0002! 110,000
[ 55,000
2 55,000
H2E 20IME UFC2 ASMERY 1Y 20,000 0 20,000
s 20,000
401 Al&2HIZ 204 20,000 0 20,000
= 20,000
01 Al&H] 20,000 0 20,000
OHSE 20IME UFT2 ASH AR
T 20,000,000 20,000
= 20,000
SOHETZHHIAIY 7,313,500 6,244,075 1,069,425
SOHETZ FHAY 5,413,500 5,644,075 £230,575
401 AlEHI L2 0HH| 5,413,500 5,644,075 £230,575
01 Al&H] 5,400,000 5,630,000 230,000
OUzl XI&0S SHEEZ2(21Z3MUEH) S
TEDAH2A) 900,000,0002! 900,000
ORI AEXR(2IE21056) 2 Z I T AL
600,000,0002! 600,000
OWE~BE2 C2(2C20754) S EHTA}
100,000,0002! 100,000
QKo ZFDIS(2IT2055 4 ) S E A B A}
800,000,0002! 800,000
Ofel ~ SAIZH2IE2115H) TR TRHTAL
1,500,000, 000 1,500,000
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SN AL
HH: CRHAAY
S©el: SOECZEHIAIY (Crof: M2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
O§2$ SA(2|S2035 M) M ER S A
SA 500,000,000& 500,000
OWD ~ ZA2 C2(2IT2065 4 ) TR BA
(1X= 1,000,000,000! 1,000,000
03 Al 2 HHI 13,500 14,075 A575
OAl& =0l 5,400,000,0002 %0 25% 13,500
S SEMN MACZ(21T2015M) SHEETA} 1,900,000 0 1,900,000
401 AlEHI 22 0HH 1,900,000 1,900,000
01 Al&H] 1,900,000 1,900,000
OLE SEMN MUT2(2/T2015M) SIE
SA 1,900,000,000 1,900,000
ZEEHIAIY 603,780 2,288,208 1,684,428
2E A 603,780 2,288,208 A 1,684,428
401 AlEH| 22 OHH 603,780 2,288,208 A1,684,428
01 Al&H] 600,000 2,280,000 1,680,000
O2E8SH 8012 W2 HEALY
400,000,000 400,000
OBCOS M (HAHE) I IBA
200,000,000 200,000
03 Al HHI 3,780 8,208 14,428
OAIE2H] 600,000, 0002 %0. 63% 3,780
WSS JIEtE 2 ALY 6,682,8% 9,134,972 A2, 452,146
MBI 569,566 550,447 19,119
401 AlEH| 22 OHH 569,566 550,447 19,119
01 Al&H] 566,000 547,000 19,000
OUNAHUHARARSAILES 60H2)
66,000,000 66,000
ONZINEARA(SAILES 106042 )
50,000,000 50,000
OLZOHME A2 (IIEIDEF 49004 )
50,000,000 50,000
OuRXL= 400,000,000 400,000
03 Al 2 HHI 3,566 3,447 119
OAl& =0l 566,000, 00024+0. 63% 3,566
T2 ALY 2,674,512 2,464,512 210,000
201 L2 45,800 35,800 10,000
02 2229 45,800 35,800 10,000
O02I0IESR2CCTV MRS
1,000,00024x 122 12,000
OJz2s MIIea 500,000 %12 6,000
OZ2AILS(ALHR, (CTV S) S423
50,0002 * 107 Ax 122 6,000
OE2E4+2&D MR
50,0002+3S+ 122 1,800
OF2EH &IILI 5,000,000 *42 20,000
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SA AL
HE: CRHMAY
CHe: DMEIISEE JIEIT2ANY (Eisl: B
A - B O9|(30) - HRAKY - BaS Ol &k Gl fimEET
T EEIEERT 2,608,712 2,428,712 200,000
01 Al2H 2,620,000 2,420,000 200,000
ORE ¢ SOHEE2 AIES
500,000, 000! 500,000
OZ & X AHALS 200,000,000 200,000
OS0|EC 2 XHH T AL
200,000, 000! 200,000
OS28 ZHD| L T2RHA
700,000,000 700,000
O%Z Mol g8X 2= 500,000,0002! 500,000
OZ2ZAIE 2i= ZHI 100,000,000 100,000
OS2I (CTV, LA S S
20,000,0002 20,000
OblZEX 243 X2 400,000,0002! 400,000
03 Al =0 8,712 8,712 0
OAIZ= b 2,420,000,00024%0. 36% 8,712
2214 F0IEAAY 2,438,748 1,966,053 472,69
401 A2 20HY] 2,438,748 1,966,053 472,69
01 A& 2,430,000 1,959,000 471,000
ORC16EH (AG~ET 2N OIAREEE
Al 220,000,000 220,000
OZC 1M (UH-HYZNEE OtAR THE
SSA 500,000,0002! 500,000
ORIZ2055(22XI7) OFARHMNRI|TA}
300,000, 000! 300,000
OSHNIS(2EIEM)AEY T2 SHEND
At 90,000,0002 90,000
OREB5H DIIOFS 22 WA
70,000,000 70,000
O 2550546 BEXT 4N ZAL
40,000,000 40,000
OLHIOIE 2152115 MEIHZEZAF
125,000,000 125,000
ORIl T2235 & (ALX )42 SXIBAL
70,000,000 70,000
OQIOE 2122095 (AH K| R)OtA R M D2
Al 85,000,000 85,000
O2lE2108 4 DXI0IE B2 T2EEZEA
300,000,000 300,000
OMNE 2E85(LEXR)T2 =7 FHIZA
30,000,000 30,000
OS] MZT2(ME035)0IAR EHBA
150,000, 0002 150,000
O/IOH SE3095 (20X 7) OFARHM 2|2
Al 100,000,000 100,000
O BE £2 a2 SX2A
75,000,000 75,000
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SA AL
HM: C2HAAY
ol WEIHES JIEH=Z ALY CEREERD
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OXZZ1001SH(H&EXIF) =2 ERISA
35,000,000 35,000
OFQ AHT2(2|S21558)0tA R IRDAL
120,000,000 120,000
OSHET2235 8 (SUXIR) =LY EX
SA 50.,000,0002 50,000
OZEJS(HSXP) =28 HYISAH
70,000,000 70,000
03 Al&2HY| 8,748 7,053 1,695
OAl& =0l 2,430,000,0002*0. 36% 8,748
TEEmMBPIEEN 1,000,000 2,000,000 1,000,000
401 AlEH| 22 OHH 1,000,000 2,000,000 1,000,000
01 Al&H] 1,000,000 2,000,000 1,000,000
OIS m MHIHEZAHL=0.2km)
1,000,000, 000 1,000,000
INEBIETYERS=IPNES! 200,000 1,205,000 1,005,000
MEIWZLZAHAILSEAI 200,000 1,205,000 1,005,000
401 Al&HI L2 0HH 200,000 1,205,000 1,005,000
01 Al&H] 200,000 1,205,000 1,005,000
MEIWZAZ CHAILE SSAIY
200,000,000 200,000
5t A 13,714,148 14,381,465 NBB7,317
= 829,600
[ 1,644,500
= 11,240,048
N 4,631,194 7,342,899 A2,711,705
= 794,600
[ 1,644,500
= 2,192,094
StERXIZ Y 495,177 519,665 A24,488
101 Q124H] 17,657 17,145 512
04 2RISR 17,657 17,145 512
OSld SYER o Q2 2124 17,657
0olE= 88, 160 *201x90 2! 15,869
0=2%= 15,868,800 4. 5% 715
0HSEE 15,868,80024%3.545% 563
0L QIR RYUSE 563,00020%12.81% 73
01EEE 15,868,800 x1.75% 278
0CHHEE 15,868,000 * 1% 159
201 L2 S 48,920 48,920
01 Al22+2|H| 36,920 36,920
OSEHI (G AREX)
8,00021%301x804! 1,920
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2A:

Faf=i,

MM ot M|
SHol: XIsHE e (cio) msl)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
SIEEEN SIS
500,00024+7024 35,000
02 ZZ2AH| 12,000 12,000 0
OXILBIE 42 MR
300,000+ 122 3,600
OUF 01T AR HIQD
350,000+ 122 4,200
OAtelts®2 Hlirs 200,0002 122 2,400
O2Jt6td AlE2 &2
150,00024* 122 1,800
202 O4H 3,600 3,600
01 =Ko 3,600 3,600 0
OotddR=d 100,00024*301% 122 3,600
401 AI2HIZ 00| 425,000 450,000 25,000
01 Al&H] 425,000 450,000 725,000
OZHl ot= M=
15,000,0002* 11 A 165,000
OZH HMYZHII AL
15,000,0002* 117 A 165,000
OBl& AIES(FI|, 03, 7x2)22
16,000, 0002 %571 2 80,000
OBI& 22| QHUTHMYDIE)|, SHER)S
Al 500, 0002 *30 0 4 15,000
NES RSN 510,000 540,000 30,000
= 255,000
2 255,000
401 AIEHIZ 200 510,000 540,000 30,000
= 255,000
2 255,000
01 Al&H] 510,000 540,000 30,000
OXIgtatd BIEHH|(ZL) Al
358,000,000 358,000
= 179,000
2 179,000
OXI5IA EXIT HH|A
2,000,000 2,000
= 1,000
2 1,000
OXlZtata XA
150,000, 000! 150,000
= 75,000
2 75,000
21 ES XS (40H22) 494,600 479,000 15,600
= 494,600
401 AlSHIZ 200 494,600 479,000 15,600
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2A:

Faf=i,

S ot JHI
o2l Xgota2te| (crol: 221
SN - BE - B2(3) - NRAY - BES Ofl ko Gl iimE==l
= 494,600
01 AI&HI 494,600 479,000 15,600
O=J1otd |2l
494,600,000 494,600
= 494,600
KI5tE Al EHIAIS 1,091,917 3,429,234 2,337,317
401 AEHIZL O] 1,091,917 3,429,234 N2,337,317
01 AI&HI 1,088,000 3,420,000 22,332,000
SHEA HHIAMY 142,000,000 142,000
OEAE(EEXIF) =02 IHISA
168,000,000& 168,000
OSHAHA(SAKIF) HUISAH
25,000,000& 25,000
OStAR(XIR) M HEISA
80,000,000 80,000
OSME(HEXIR) Stat B3 A
80,000,000 80,000
OEEH(YAXT) S0I=2 HEISA
45,000,000 45,000
Og&d natojy 22 SXISA
100,000,000& 100,000
OEAE (TR ) BIH SLZ AL
14,000,000 14,000
OPAIE (AR ) Z&ACH|] E+3At
58,000,000 58,000
OXlgstd D2l 242 X2
200,000,000 200,000
OE2(2EX7) SO0t2 ZHISA
176,000,000 176,000
03 AIE=0HY| 3,917 9,234 A5,317
OAlE S0 1,088,000, 000:24%0. 36% 3,917
oY ME=M2RRR LA (HE) 1,039,500 200,000 839,500
== 1,039,500
401 AlEHIZL 20| 1,039,500 200,000 839,500
== 1,039,500
01 AI&HI 1,039,500 200,000 839,500
OZd52 ME=MAZTE NLAIS (EE
1,039,500,0002 1,039,500
== 1,039,500
EE NHTHHRAZE NS XIT? HUIAIS 600,000 0 600,000
= 300,000
== 150,000
o 150,000
401 AlEHIZL 20| 600,000 0 600,000
= 300,000
== 150,000
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SN 2
3. ot &l
Pl AEoHE 2L CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
i 150,000
01 Al&H] 600,000 0 600,000
OZE& MAMHASMHLXIT SHIAE
600,000,0002 600,000
= 300,000
& 150,000
i 150,000
QAEH(ASXF) LetoHe FHIAY 200,000 0 200,000
= 100,000
i 100,000
401 AIZHIZ 20| 200,000 0 200,000
& 100,000
i 100,000
01 Al&H] 200,000 0 200,000
UL (USRI LBIOHE BHIAY
200,000,000& 200,000
& 100,000
i 100,000
S (X)) LEGH FHIAY 100,000 0 100,000
= 50,000
i 50,000
401 AIZHIZ 20| 100,000 0 100,000
& 50,000
i 50,000
01 Al2H| 100,000 0 100,000
OUSH(+BXI7) YBHSHE FHIAL
100,000,000& 100,000
& 50,000
i 50,000
0I=H(3HEIX7) Letotd A 100,000 0 100,000
= 50,000
i 50,000
401 AIZHIZ 20| 100,000 0 100,000
= 50,000
i 50,000
01 Al&H] 100,000 0 100,000
ODI=E (B8 XI7) Letote ZHIAY
100,000,000& 100,000
& 50,000
i 50,000
gHEFEAE N2AE 237,930 204,892 33,038
gZEFHENS KA 237,930 204,892 33,038
401 AIZHIZ 20| 237,930 204,892 33,038
01 Al&H] 237,930 204,892 33,038
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A AR
X
o

SRS 6}2 4|
el SHEFEXY XA (cHol: x2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
O =X XA
237,930,0002! 237,930
StE S X2 7,339,624 6,028,634 1,310,990
= 35,000
o 7,304,624
AOtE R X2 ALY 2,660,544 1,570,634 1,089,910
401 Al&HIZ2THY| 2,660,544 1,570,634 1,089,910
01 Al&H| 2,651,000 1,565,000 1,086,000
Ogsr Aotd HUISAH 100,000,000 100,000
O&A AoHE HUISAH 210,000,000 210,000
O0= 4ActE FHISAH 150,000,000 150,000
O%=2I0I2 Ao HUIZA
300,000,000 300,000
O AGHE(KB) HUISA
150,000,000& 150,000
O A0HE HHISA 70,000,0002 70,000
OEE A0Id BHHELUZA
56,000,000& 56,000
OTAF 2518 T2 HHISAHSAH)
255,000,000 255,000
O&E A0H& HUISA 200,000,000 200,000
OS4a A5H FHIBA 134,000,000 134,000
O A5t HHIZAH 500,000,0002! 500,000
O2F A0Hd HUISAH 70,000,000 70,000
OFAF A5H& Mg HHISAHSAMH)
100,000,000& 100,000
ObtY 2561 Al B3 A}
30,000,000 30,000
OAl& A5HE HHIZAH 25,000,000 25,000
O30t A5 =012 HHISA
65,000,000 65,000
ORIAH ABHE FH|Z A} 50,000,000 50,000
O34 A6t HUIBA 40,000,0002 40,000
OUWD ABHE FHHIZA 80,000,000 80,000
O35 L0t& HUISAH 66,000,0002! 66,000
03 AIESCHYI 9,544 5,634 3,910
OAl£€ =it 2,651,000,000&*0.36% 9,544
ADLEHS2CIAIABISAIS 70,000 210,000 140,000
= 35,000
= 35,000
401 AEBIZ 20| 70,000 210,000 140,000
= 35,000
o 35,000
01 AI&HI 70,000 210,000 140,000
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SA: AL
M2 GHE FHH|
EHRlr ASERAI2E (St M 2l)
2M -3 - HA(ZH) - M2AY - BHES Ofl AboH %Ei Hns2
ORNE ANEEHZSZE 2=
70,000,000 70,000
= 35,000
= 35,000
A ABIE HHIZAHE AN 1,100,000 1,100,000 0
401 AIEHIL 20| 1,100,000 1,100,000
01 Al&H| 1,100,000 1,100,000 0
OAl ABHE HH|IZ A
1,100,000,000< 1,100,000
512 AGHE MUIZAHESAIY) 1,200,000 0 1,200,000
1 A& HIL S0HH] 1,200,000 0 1,200,000
01 Al&HI 1,200,000 1,200,000
OgS AGHE HH|ZA}
1,200,000, 000 1,200,000
AT ABIA SHIZAHE AN 1,100,000 0 1,100,000
401 AlEHIL 20| 1,100,000 0 1,100,000
01 Al&H| 1,100,000 1,100,000
Oatet A5t HHIBAH
1,100,000,000< 1,100,000
Q10 AGHE FHIZAHRKIT)(®EHAL) 1,209,080 0 1,209,080
401 AlEHIZ 20| 1,209,080 0 1,209,080
01 Al&H| 1,209,080 0 1,209,080
O21 A5Hd HHISAH2XITR)
1,209,080, 000 1,209,080
st Sx el 1,505,400 805,040 700,360
SHEE| = 2MHAY 1,505,400 805,040 700,360
401 AI2HIL 2 0HY| 1,505,400 805,040 700,360
01 Al&H| 1,500,000 800,000 700,000
Ot E/XE MIAHAY
1,000,000,000< 1,000,000
OBtE SERE2 MHAIY
500,000, 000! 500,000
03 Al THY| 5,400 5,040 360
OAIE2H] 1,500,000,00024%0. 36% 5,400
=210 BFEHI ALY 15,986,972 16,004,466 A7 ,494
[ 506,600
= 15,480,372
= I[BHEH| AR 870,461 1,755,219 884,758
[ 506,600
= 363,861
=) [BIEHIAI Y 240,461 192,394 48,067
101 Q14| 41,798 25,397 16,401
04 D12t 22X ES 41,798 25,397 16,401
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2A:

Faf=i,

Hz: =I|EHEH|AY
£Helr SYIIBHEHIAY CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Otff==&2e] AABI(MSXIF 2 129HA)
80,3802%101% 1374 A+40 41,798
201 LBtAY| 195,063 163,397 31,666
01 AtR2t2lt| 52,947 48,147 4,800
Oggt==2H| 51,027
0SALE 2EH2E EHAL =22
120,300&*90S 10,827
o2& 2orAY] 31,200
o MEXIT 2 12914
200,000+ 1374 A 122 31,200
ORI L2 Mat2AL] L IR S
300,000 & *30Z X 9,000
OS¢t (=gIIergRFE)
8,00024*301x804! 1,920
02 2=222H| 142,116 115,250 26,866
02322 ¢ HMAl 134,380
O ®D|otE e 64,540
o St& X+ 300,000 *7 2,100
o NS X+ 1,500,000 *7& 10,500
o MIE X7 1,000,000 7€ 7,000
o M= X7 1,000,000 7€ 7,000
o ZEHKIF 1,000,000 *72 7,000
o2& X+ 100,000 *7 700
0 38 (MES) X7 100,0002+7 700
o =&XIF 500,000 +7& 3,500
o XI2IXI+ 1,000,000 72 7,000
oR= N 100,000 *7 700
o ot&E X+ 1,300,000 72 9,100
o0 =3 X7 300,000 +7& 2,100
0 EEXIF 300,000 +7& 2,100
oZ|¥+H 140,000 +6 2 840
00| W+F 700,000 %62 4,200
o= Stz 11,880
oSt X7 80,0002 *12& 960
o N&X|IF 90,0002 *12& 1,080
o M2 X+ 80,000 %122 960
o =X+ 90,0002 128 1,080
o HEHKI 7 90,0002 %122 1,080
o A& X7 80,0002 *12& 960
o SH (ME) X2 80,0002 %122 960
o &E&XIF 50,0002 12 600
AED 50,0002 %122 600
oA B 50,0003 x12& 600
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2A:
PSP R
S

Faf=i,
SYIIBHEHIA
S 0IBHEHIAY

S

2A - HH . H(SH) - MRAIY - BES Ol Aot Of| b0 [ ImES=l;
0 OHE AT 90,0002+ 12 1,080
0 2=2X|7 80,0002 %122 960
02EXT 80,0002+ 122 960
OH=sZ ®IIR3 57,960
o St& X+ 90,0002 x78 630
o NS X+ 450,000 +72) 3,150
o MIEXI7 200,0002+72 1,400
o= PNE 350,000 %7 2,450
o HENXIR 250,00024*72 1,750
o ZHXIR 160,0002+72 1,120
o B (ME)XIF 100,000 *7 & 700
o E™XIR 180,000 +7 & 1,260
o XI2IXI7 2,900,0002+72 20,300
oA+ 600,000 *72 4,200
0 SHA X7 2,300,0002+72 16,100
S=A+ 400,000 +72 2,800
0 BEX7 300,000 72 2,100
OAIEEHIS X 7,736
OBHSHIHZ 2 2A2=D| HH
100,000 *33CH 3,300
OHH==ZF XPDHLED| RXI22(RFH)
1,65021%2242 | E{* 1200 A 4,436
202 O4H 3,600 3,600 0
01 2UHo| 3,600 3,600
Osg)|pr R84
100,00021%301x 122 3,600
S2IAIE XIAFOIAOALY 50,000 249,000 A199,000
[ 15,000
= 35,000
401 Al&HIL20HY] 50,000 249,000 199,000
[ 15,000
= 35,000
01 Al&H] 50,000 249,000 199,000
QAR HH2=2 A XA (L=550m)
50,000,000 50,000
[ 15,000
= 35,000
THEHRI BT =X QHARIC 20,000 40,000 A20,000
[ 10,000
= 10,000
401 Al&HIL20HY] 20,000 40,000 20,000
[ 10,000
= 10,000




SN ALY

M SI|BHAEHIAIY
o9l SeiIEEIAY (creol: M2))
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 A=t 20,000 20,000 220,000
O&F H4X YA
20,000,000& 20,000
& 10,000
2 0,000
SODIBEH(SAENT)-A=S e AN ES (T 400,000 0 400,000
Ard)
= 344,000
i 56,000
401 AIZHIZ 20| 400,000 0 400,000
& 344,000
i 56,000
01 Al2Hl 400,000 0 400,000
OSTZHAX HELBA
400,000,000 400,000
< 344,000
2 56,000
=SSN ASHE)] ZXAS-A 222 AEHE 160,000 0 160,000
= (HEAY)
& 137,600
i 22,400
401 AIZHIZL S0 160,000 0 160,000
& 137,600
i 22,400
01 Al2H| 160,000 0 160,000
OsUENM=X AISHZI| XA (4H4)
160,000,000& 160,000
= 137,600
o 22,400
LS ENLAS 5,218,505 4,706,520 511,985
I EYENTHAMEXT)- A2 EBIHL (HEAIY) 1,195,252 1,196,000 AT48
403 AXIEHHSAH=Z01E 1,195,252 1,196,000 AT48
02 SIS0 U= A E AL 1,195,252 1,196,000 AT48
OUEXT AR EFIHLAG(HE)
1,195,252,000& 1,195,252
I =M MNKIR)-KI H 22N L (HEALY) 644,320 710,520 266,200
403 NAI RIS AH=01& 644,320 710,520 266,200
02 SISOt =X AS A 644,320 710,520 266,200
OAMXIT X HE= S22 AR (HE)
644,320,000 644,320
IS TR | HSH S A2 S LA (M EALY) 1,000,000 0 1,000,000
401 AIZHIZ 20| 1,000,000 0 1,000,000
01 Al&H] 1,000,000 0 1,000,000
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2A:

A&
M SI|BHEHIAIY
el LBHSEINLAY (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OJIHIStE= 2 SIAAIY (M)
1,000,000, 000 1,000,000
I ZMEOITRHAEL R 9 1HXIR)-ARZESIY 1,500,000 0 1,500,000
EESEIN =)
401 A& HIL S 0HY] 1,500,000 1,500,000
01 Al&H| 1,500,000 0 1,500,000
OAEXTR 2 1R ARLD E4IHZAR(
&) 1,500,000, 000 1,500,000
I ZMEITRHYHE 2 2JHX|7)-KI EE QI 878,933 0 878,933
PSEEINL))
401 A& B2 0HY] 878,933 878,933
01 Al&H| 878,933 878,933
OWHE Q| 20HKIF KIES BAHLA (&
) 878,933,000& 878,933
SQI|BIAIE ST Z2IAIY 2,436,006 3,198,493 NT62,487
22| S2AIE QR ZRIAIY 1,256,006 1,252,493 3,513
401 Al&HIL S 0HY] 1,256,006 1,252,493 3,513
01 Al&H| 1,251,500 1,248,000 3,500
o222l M4l &2 - &E HAAY
450,000 %185 A*23 166,500
o222l - 22 EXS HAHAY
10,000, 0002 %2204 A 220,000
Oz222| 2R2IAL(M2X, L2, 2F,
L) FAl2el 10,000, 00024%3301 & 330,000
O=222l M4l Rets 2 2he A3
2,000,0002%2074 A 40,000
Oti+=& |Xl2e| 20,000,0002 %1374 A 260,000
Osde X5k ZI2E A2 e
10,000, 0002 *8IH A 80,000
Ob4& S4X =AY
10,000, 0002 %874 A 80,000
OsYIIBAIL DIZ2EX BAZ
15,000, 0002 52 X 75,000
03 Al THY| 4,506 4,493 13
OR22| 22/ AESXR2IAY AISR2HL|
1,251,500,00024%0. 36% 4,506
QBARI HESZA 150,000 90,000 60,000
401 Al&HIL S 0HY] 150,000 90,000 60,000
01 Al&H| 150,000 90,000 60,000
ORIBARI HELBAHBIMHA)
30,000, 0002 %574 A 150,000
XX ElXNE ELAY 330,000 330,000
401 Al&HIL20HY] 330,000 330,000
01 Al&H| 330,000 330,000 0
OXZ=Xl EIMSELAR(11HA)
30,000,0002% 117424 330,000
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2A:

7<‘| il—l:

Faf=i,
SIEHEHIAE

CHo: SQ|HHAIE RXIZRIANY (crel: iz
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
SAED] AR AZCIAY 700, 000 1,090,000 2.390,000

403 AR SHIS =018 700,000 1,090,000 390,000
02 21202 R S E A ] 700,000 1,090,000 390,000
Ots AHUL B2 &XIBAHL=250m)
200,000,000 200,000
OAlQH QDX T Hi42 & XIZAHL=200m)
60,000,000 60,000
OAHE UIEX T 842 &XIZAHL=300m)
150,000, 0002 150,000
OIS AEXIT S2EEZAHL=150m)
30,000,000 30,000
OME SAX 7 242 HXIZAHL=250m)
80,000,000 80,000
OAS AFEXIT 2HI22 &XIZAHL=200m)
100,000, 0002 100,000
OME HEZX T 842 AXIZAHL=200m)
80,000,000 80,000
S0iJ|EF Z0ISAAIY 7,462,000 6,344,234 1,117,766
SeD|EF FOISAAIY 2,919,473 1,836,588 1,082,885
401 A2HIZ 2T 2,919,473 1,836,588 1,082,885
01 A& 2,909,000 1,830,000 1,079,000
OZBI0IS SAt 22 HHIZA
150,000, 0002 150,000
O2=0IS B2 242 FHIZA
150,000, 0002 150,000
OBLOIS Hi22 HHIZA
140,000,000 140,000
O=4E ot2 FHISAt 200,000, 000! 200,000
OAOIS AXIH2IX? BHIA2 HESTA
140,000, 0002 140,000
OZLF0IS SREEETA
130,000, 0002 130,000
OUX HES 42 MHIZA
700,000,0002 700,000
OME0IS 22 HHIZA
100,000,000 100,000
SAOIS Hi%2 HHIZA
55,000,000 55,000
OXBIS AXH2IXT? BHA2 HESTA
200,000,0002 200,000
OWEOIS ©I|5I2A =W 2|42 Hb|
SA 140,000,000 140,000
OXlS0tS &2 2H FHIBA
100,000,000 100,000
ONEDIS SR L 22 FHIZA
300,000,000 300,000
OT0IS BHIA2 HEAZAF
200,000,000 200,000
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2A:

.

Faf=i,
SeIEHEHIAE

Ce: =gt FOI=RAAI (Ctol: ®M2l)
SN B SL(3) - MBAY - BaS Ofl b Gl RS2
OZA(NEE) 22 HHIBA
204,000,000 204,000
03 Al CHH 10,473 6,588 3,885
OAl&g=0Hl 2,909,000,0002*0. 36% 10,473
MEHS SHI|BHERIAIY 423,024 250,793 172,231
401 AlEHI 2L 20 423,024 250,793 172,231
01 Al&H] 420,000 249,000 171,000
OXI=0I2 BA2 2482 &XIZAHL=50m)
30,000,000 30,000
OAHOI2 = 42 HHIBAHL=100m)
70,000,000 70,000
OIS %S SZEHIZAHL=100m)
50,000,000 50,000
02202 ¥S sZHHIZAHL=250m)
50,000,000 50,000
OR1N0IE ASE sZIHEZBAHL=70m)
60,000,000 60,000
OXl4 A0S HH4=2 HHIZAHL=300m)
60,000,000 60,000
O220t2 ZUHE U142 FHIZAHL=250m)
40,000,000 40,000
OUR0IS =2 2Hi42 FHIZAHL=100m)
30,000,000 30,000
OXIR0I2 2212 =2FHISAHL=100m)
30,000,000 30,000
03 AlZSTHHI 3,024 1,793 1,231
OAl&=CHl 420,000,0002%0.72% 3,024
et =)|Ei=sIALY 443,168 463,312 £20, 144
401 Al&HIL20HY] 443,168 463,312 £20, 144
01 Al&H] 440,000 460,000 20,000
OUE0IS Bi42 HHIZAHL=100m)
25,000,000 25,000
OdEDFE o2 EHIZAHL=30m)
15,000,000 15,000
OR2A0IS U2 HHIZAHL=165n)
35,000,000 35,000
OFTOI2 LT HLZAH1AL)
50,000,000 50,000
O4D|0H2 =2 FH|IZ2AHL=85m)
20,000,000 20,000
OailS 222 HHIZAHL=280m)
60,000,000 60,000
OIS =AU 2 FHHIZAHL=65M)
25,000,000 25,000
OO 22 FHIZ2AHL=25m)
35,000,000 35,000
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A AR
M =o)|uEH| Al
CH9l: SQI)IBt DIl

HEE

2A - HH . H(SH) - MRAIY - BES Ol Aot Of| b0 [ ImES=l;
O&IH0FS Bi22 HHIZAHL=180m)
40,000,000 40,000
Olf=012 LBHtE HLZAH1AL)
50,000,000 50,000
OAIOIS HSAZ =2 FHIZAHL=400m)
85,000,0002! 85,000
03 Al& S THY| 3,168 3,312 A144
OAIE 20| 440,000,000 *0.72% 3,168
QEH =oiJ|Bt=2IAre 332,376 353,528 N21,152
401 A& B2 0HY] 332,376 353,528 N21,152
01 Al&H| 330,000 351,000 A21,000
O2E0I2 Y2ENEd 2 BAZAHBMA)
50,000,000 50,000
OLH=0t2 2= Hi2=2 FHIZAHL=170m)
80,000,000 80,000
Ozg0I2 2 Hi=2 24 ZAHL=100m)
40,000,000 40,000
OZZE0I2 ¢S 28122 FHIZAHL=130m)
70,000,000 70,000
OLHZOIZ HUZ Hi2=2 ZHIZAHL=100m)
40,000,0002! 40,000
OFZE0I2 =& & U142 HHIZAHL=10
Om) 25,000,000 25,000
OZ0I2 2 HHIZAH1A!)
25,000,000 25,000
03 Al& i 2,376 2,528 A152
OAl& =0l 330,000, 000240 72% 2,376
MR =Q)|Bh=2IALe 546,421 553,465 AT ,044
401 Al&HIL20HY] 546,421 553,465 AT ,044
01 Al&H| 543,000 550,000 AT7,000
O0AM S S22 HHIZAHL=70m)
15,000,000 15,000
OL2X? 842 220 AX AlAFI(100
L) 30,000,000 30,000
OSHE 2NE =2 W2 HIIEZAHIIHA)
35,000,000 35,000
O/l EZZ S2D20H L 2 WEER
ZAH(L=270m) 51,000,000 51,000
OBlE UE 842 HHIZAHL=330m)
31,000,000 31,000
O E4A 2| 04 2 AHL=300m)
74,000,000 74,000
O7E 2US 222 LHZAHL=100m)
25,000,000 25,000
O40t2 AtHE 2242 FHIZAHL=100m)
44.,000,0002! 44,000
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2A:
PSP R
S

Faf=i,
SeIEHEHIAE
S8 FoI=AAH

/|

HEE

2A - 3 - H(SH) - MRAY - BAS Ol Aot Of| b0 [ ImES=l;
Ol HEE =2 SITAZAHL=200m)
74,000,000 74,000
O&F 22HE SHH2 AHIZAHL=100m)
60,000,000 60,000
ZU0I2 S22 ABH2E FHIBAH1A)
29,000,000 29,000
OBtENIE SIS SRS I AHL=50m)
15,000,000 15,000
OTI(DESE)HI2=2 AHIZAHL=100m)
60,000,000 60,000
03 AlZSTHHI 3,421 3,465 A4
OAl& =0l 543,000,000 +0.63% 3,421
SN =21)|BHS2AAL 438,132 360,578 77,554
401 Al&BIL 2 0HY] 438,132 360,578 77,554
01 Al&H] 435,000 358,000 77,000
OEe| 272 842 HH|ZAHL=200m)
70,000,000 70,000
OFAL HHE 2HH2=2 222 AHL=80m)
40,000,000 40,000
OBtAM 2K 42 HH|IZAHL=200m)
60,000,000 60,000
OUE FHUE 42 IHESZAHL=100m)
60,000,000 60,000
OF4 BXH2IXT 52 HZZAHL=100m)
40,000,000 40,000
Ot HILIR 2 S22 A2 AHL=300m)
45,000,000 45,000
OAHE 24S =2 2 142 FHIZAHL=250m)
50,000,000 50,000
OF2 2= B2 A X ZAHL=300m)
30,000,000 30,000
OEE AXNF2XT 142 A X ZAHL=400m)
40,000,000 40,000
03 Al CHH 3,132 2,578 554
OAlIE=E Y] 435,000, 0002%0.72% 3,132
AR =Q1)|BHSRAAL 397,844 299,139 98,705
401 Al&HIL20HY] 397,844 299,139 98,705
01 Al&H] 395,000 297,000 98,000
OH0lS 842 HHIZAHA=3001)
110,000,000 110,000
OAIGI0HE KA BT AHA=240m)
60,000,000 60,000
OMEZEDIZ AlH B2 AHA=200M
60,000,000 60,000
OSE0IE =24 H2INAZAHL=200m)
35,000,000 35,000
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2A:
T ZH -
o /e

chel:

A7}
S|P ALY
S01)|8F E0I=2IAY

[ Wlin)

SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
SE02 AYUFE FHIZAHA=100m)
30,000,000 30,000
OXBI0IS 842 FHIZAHA=120)
30,000,000 30,000
OUdoE =2 EXIBAHTMA)
35,000,0002! 35,000
O nitS 242 HHIZAHL=160n)
35,000,000 35,000
03 Al THY| 2,844 2,139 705
OAl&g=0Hl 395,000, 00024*0. 72% 2,844
NEEEEH RIS 336,405 191,368 145,037
401 AIEHIL 20| 336,405 191,368 145,037
01 Al&H| 334,000 190,000 144,000
OZ5H0H2 sHi42 A XIZAHL=100m)
70,000,0002! 70,000
OMXIDIE 52 2 Hi%=2 HHIZAHL=350m)
80,000,000 80,000
OWR0tS s2Xl X2 FHIZAHL=350m)
70,000,000 70,000
OFHOI2 =X MY FHHIZAHL=350m)
56,000,0002! 56,000
OSH0tS s2X T2 FHIZAHL=300m)
58,000,000 58,000
03 Al& S THY| 2,405 1,368 1,087
OAl& =0l 334,000, 00024*0. 72% 2,405
CHY O SD|BHERIALY 519,251 596,736 AT7,485
401 AlEHIL 20| 519,251 596,736 AT7,485
01 Al&H| 516,000 593,000 AT7,000
OZS0H2 B2 =HIZAHL=200m)
38,000,000 38,000
O=S6I0+S Bi4=2 FHIZAHL=200m)
53,000,000 53,000
OLADIZ(EE) B2 FHIZAHL=330m)
63,000,0002! 63,000
OAHOHZ Bi4=2 =HIZAHL=250m)
28,000,000 28,000
O£-AHDFS Hi42 HHIZAHL=100m)
40,000,000 40,000
OSA0H2 MK "M 242 AHL=100m)
85,000,0002! 85,000
OZHOIS BXZ HH|IZAHL=250m)
60,000,000 60,000
OZzl0t2 222 HHIZAHL=500m)
55,000,000 55,000
OTAIDIZ 842 FH|IZAHL=150m)
29,000,000 29,000
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A A4
S =HIIEHEHIAY

2l =28 =0I=RAY (cHol: M)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OXr20I= th==2 Sol= AHL=230m)
44,000,000 44,000
OAZIOIS(ZE) S 42 HHIBAHL=
10m) 21,000,000 21,000
03 Al 3,251 3,73 485
OAl& =0l 516,000, 0002 +0.63% 3,251
QIO SolD[HFE AT 317,268 423,024 105,756
401 AI2HIZ 2 0HE 317,268 423,024 ~105,756
01 Al&H 315,000 420,000 105,000
O/DIDIS HI22 FHIZ AHL=200m)
40,000,000 40,000
OHS0IS 222 FHIZAHL=150m)
40,000,000 40,000
OoH=0IS SHi42 HHIZAHL=200m)
40,000,000 40,000
O2ID0IS SBHi%2 YL S2FHIZAHL=150n)
45,000,000 45,000
OSH0IS BHi22 L S2FH|ZAHL=300n)
150,000,000 150,000
03 Al 2,268 3,024 AT56
OAl& =0l 315,000, 000240 72% 2,268
Y201 S0 [BrERIALY 325,326 386,765 61,439
401 AI2HIZ 2 0HE 325,326 386,765 61,439
01 Al&H 323,000 384,000 261,000
OWBI0IS EFaHE JHLBAH1AL)
55,000,000 55,000
OZHOIS F&+ Hi42 FHIZAHL=160m)
24,000,000 24,000
OZ2(25)0t2 S S2EXBAHL=150n)
24,000,000 24,000
OR/TE0IS SIS Hi+2 HHIZAHL=200n)
35,000,000 35,000
OLHOIS OHBHAIR HiA2 FHIZAHL=250
m) 35,000,000 35,000
OBIE0IS PHS HI4-2 FHIZAHL=220m)
25,000,000 25,000
ODXI0IS S Hi42 FHIZAHL=220m)
35,000,000 35,000
OASOIS oINS Bi4=2 FHIZAHL=500m)
48,000,000 48,000
OMBOIS FI& HI22 FHIZAHL=100m)
30,000,000 30,000
00202 2+ Hi4=2 HHIZAHL=60m)
12,000,000 12,000
03 Al 2,3% 2,765 439
OAl& =0l 323,000, 000240 72% 2,326
NEEEE S 463,312 628,938 165,626
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A AL
I =OfJ[BFEH| ALY

SHe: =B F0I=SRALY (cHol: M)
A - HH . H2(3H) - HRAK = Of] &K %Ei Hws2
401 AIEHIZ 20 463,312 628,938 165,626
01 Al&d] 460,000 625,000 165,000
Ox=H0I2 Stli4=2 FHISAHL=430m)
50,000, 000& 50,000
O=280I2 a2 HHISAHL=200m)
80,000,0002 80,000
OSHitg 42 JHISAHL=100m)
50,000,0002 50,000
OdJ0t2 Sti4=2 F8ISAHL=100m)
50,000, 000& 50,000
Os80t2 Sti+=2 JHISAHL=100m)
80,000,0002 80,000
O=280l2 2ti+=2 WHSAHL=100m)
70,000,0002 70,000
OS82 ZEZ ZHZAHL=300m)
80,000, 000& 80,000
03 AIESCHYI 3,312 3,938 2626
OAIE 20| 460,000,000 0. 7% 3,312
Mol & e =5 =58 28t 4,013,000 3,090,000 923,000
= 2,256,500
& 1,128,250
o 628,250
RHOH Ol 24 AL 4,013,000 3,090,000 923,000
= 2,256,500
& 1,128,250
= 628,250
AME(A01) XATHHA ML X7 FHIAIS 1,000,000 1,200,000 A200,000
= 500,000
& 250,000
= 250,000
401 Al&HIZL 20| 1,000,000 1,200,000 A200,000
= 500,000
[ 250,000
o 250,000
01 Al&d] 1,000,000 1,200,000 200,000
OR/IS(£20]) KHATHHRAZEIMNS KR HUIA
2 1,000,000, 000 1,000,000
= 500,000
[ 250,000
= 250,000
US 2 KAMMNRAE N X 2EBIAIS 3,013,000 1,890,000 1,123,000
= 1,756,500
[ 878,250
o 378,250
401 AIEHIZL 2041 3,013,000 1,890,000 1,123,000
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S AL
M ol & M =7 52 23t
£l THOH I EH AL CEREERD
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 1,756,500
& 878,250
i 378,250
01 AlEH| 3,013,000 1,884,897 1,128,103
OXATHNRIE HEXAEH(LSEEXIT)
3,013,000,000& 3,013,000
= 1,756,500
& 878,250
i 378,250
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